SHAFEEE7EH
R ERESHERE BT

. BB EF

5. ABE#HRY)

(4) A FHH

(4) A FHH

6. HERRA
(1)EBABRF
(2) A5
(3) HIAF i

. BRI ZATfE H
(1) JEH B
(2) Jm i35
(3) JE i Ft

8. BRFEHA
(1)EBABRF
(2) EHIA ST
(3) HIAF i

EFEREMES 9. BERE
(1) B 9108 (L) 9RF305 ~
EFERETHEFLE/\KET1O (2) 5P JKIR 5 535 R O B [ 75t 55 15
EE  BRES
10. HEKRE
. BAfEEIR SHAEEEFEGREHEGE F70ERARS (1) B FIHERUEIHBEDRIR B
8RF305 ~9BF 155
BHX AH BER | F1mERERZ (2)1ZFR RE [ 3% 5 15 HERESE
%18 9A18H S| 12:15
%28 9A 198 A 11:50 11. BEEHE AROEEY
%30 9A20H X 12:15
£4H 9H25H H 12:15 12. FHERZ
$5H 9H26H A 11:50 9f18H-25H 1 2 3| 4] 5 6 7 8 | 9 | 10| 11
FE6H 98278 X 12:15 EH TS |11:25/12:00(12:35/13:10| 13:45|14:20| 14:55|15:35| 16:10| 16:50| 17:25
FFE  [12:15/12:50|13:25/14:00|14:35|15:10(15:45|16:25|17:00|17:40|18:15
9878 (7K)
9H819H8-26A| 1 2 3 4 5 6 7 8 9 10 | 11 12
SEERPTEE S 11:00/11:35/12:10]12:45|13:20|13:55| 14:30{ 15:05| 15:40| 16:15| 16:50| 17:25
9848 (B) 9FF~12FF FEFE  11:50/12:25/13:00|13:35/14:10{14:45|15:20|15:55 16:30 | 17:05|17:40[18:15
BE [ 55t 5 15
OHERRAE QFEEHRI 9oR208-278| 1 | 2 | 3 | 4 | 5 | 6 | 7| 8 | 9 | 10| 11
Q)% s HEFRES|11:25/11:5512:30|13:05|13:40| 14:15/14:50| 15:25| 16:00| 16:40|17:20
@DIRAD B EED HHT-BILIRAFKITD FFE  12:15/12:45/13:20/13:55/14:30|15:05|15:40|16:15|16:50|17:30|18:10
i E RS
15812 D200 13. BEE-HAIMSATILEE
(B)BWEF. (B)D2=7I50TINSAT7IV (BELEEEEEZSE -1 ~3FF)
(&) FFECE K. (B)YIFATENATIV(BELEEEEZSE - 1~3FE)
9A48 (B) 9BF~12FF
BE [ 5% 55 15 14. ZOith
OFF%EELEE QKA REFT (1)C2#kI%. 1FAME2HE
OHEE G (2)EEHE. ETEFHE. IRAFHXRMHE. Sk, 2EDOBEFBEEREATRERE
@EwHFEEREL (B)ZOFEHMICHTRINTUVVEWRIE I B RFEREERVREEIREEICELD
(MMEEOXHBIE. (—) BEFREEREZELTITVEY, FREFITOVTIL,
(—x) BFREEFRICEBLEHHELZSLY,
9H4H (B) 9RF~12FF B)HREBEDZRICH->TIINFHmAREL. HEREZSD
RE [ 3% 5 15 (6)FEEBEICKY. COBMICHTRIN TS EE - HFLFITOWVWT. EETDH
OEAFERAE QBFREFL BENHYFET,
BE. LEGMEETICRFRIFRMAMN
FESNTNDEIZDONTIX, YD
BB FETICRFIAMZIRET HE,
1 AIZDZ200M

15. EE 4RI E

JBCIEEWE HITRAUFL I —X
£)E3EOROA—FLTATS5(M1
(HhIT7SOVE)

1 HEEHR ST YFR3HE (%)

2 BiEEE 54ke

3 BlE —BAEAIBCHEE

RERESEEREG ESSRE
REETmRE
FENBEERE

F
_(BE)FE12EOROA—IR T2k (M2)
1 HEE®R YSITLIRRSFELULA—T>
2 BiEEE 4%LlE57ke. 35%55ke. tE 2k
3 BlE FIoE— LK ASHIEIEZEE
EFHHRHLE
RENFEERE

(E)E 120 #HvT(M2)
[(UBCHeERBE]
1 HEEE YSILYRRIB/ULAF—T>
2 BIHEE 4mLlE57ke. 35%55ke. ttE2keiE
3 BlE HARHLHEE
EFREEXR4ERE
EETmRE
HENBEEZERE

BARL—U Y —EXGE
E)E42E EEE

1 WEE®E YIILIFR2%K

2 fi8FE 55keg. $E1kei

3 Bl HBAL—UIH—ERE
EFEEXIsRRE
EEHRE
RENFEERE

REEITEM

-y

1 HEE®E Y3ILIYFRIFE

2 BEEE S56ke. HE2kgHEL. HAEE1000FALUL
15005 Ak ke, 15005 ML E20005 FXi#
2kg. 20005 AL E3kghnE

HWEAEEE

HENBEZERE

JRAEHRRIHEE

(B BRERAVI T HEE

1 HEE®KR YSTLIRRIFBULARUT

2 BIEEE 56kg. ftE2keH

3 Bl ®EEHEESSBRE
HENBZZERE

Wt IFFoN—hvF

1 HEERE S vRFB2#K
2 BIEEE 56kg HtE2kegH
3 BElE MENEZERE

TLEARBHE

FiEwE

1 HEEE YSILYFRCIR

2 Bi8FE 56kg 4tE2keE

3 BlE dBABHE
FENBEERE

JRABREMRE Ta—Fv—RTVT
RAFA R



SHaE

BEHE SESEHE

E E70E

(&t FFA)
Mm___fi A 7 v > R %
BT - Hi &t
X & =7 Ak B1#k B2#k C1#k C2# 3% 2%
b - Bl 1,600 1,200 @ # 1,700 @ 1,600 ® 1, 600 @ 1,200 @ 1,200 @ 1,200 @ 1,200 @ 2,000 ® 1,600 11 R
650 650 € 750 500 - 300 — — — © 6,000 700
1 B m 228 228 7 w- 5= £ €t 1570 & a & + & ~ & _ 2100 Bl 245
9818H #0130 130 , v 1508 1008 i o608 3 8 |/ 8 g M7k 1,20 & 140 18,618
(g) |= 65 65 SERAR ] 50 = 30 = = = <7 600 70
33 33 7 ! 3 25 15 e 300 35
AR - Bk @ 1,600 @ 1,600 © 1,600 ® 1,600 @ 1,200 @ 1,200 @ 1,200 @ 1,000 @z 1,700 @ 1,40 ©® 1,400 ® 1,400 12 R
650 - 500 — 300 — — 300 1% 1,500 600 - 7 Y 2,500
9 . = 8 = & = 15w m 106% & A I 105 ¥ 525B2— 210B2 = & T NI Y
98198 130 M ® 100 8 g 60 M B B % 60 E 3004 M 120 B % 22 500 14,792
#A) [& 65 = 50 = 30 = = 30 <150 60 = Lox E 250
33 25 15 15 HE 35 30 71 : 1%
B - B @ 1,800 ® Z 1,600 1,000 @ 1,400 @ 1,400 @ 1,400 1,400 @ 1,400  ® 1,400 @z 1,600@ 1,400 11 R
650 650 500 300 — — 500 — — _J 3,000 700
3 & - 228 228 175 - 105= # = # Cl— 175C¢1= & C = # S A 1050 245
98208 B 130 130 100 0 60f 3 M % #8100 Mk R Bk B & Yam o600 140 13,432
(KR |2 65 65 50 V- = 50 z = - 50 70
33 33 25 15 25 £ 150 35
L - B a 1200 @ 1,600 @ 1,600 @ 1,400 @ 1,200 © 1,200 ® 1,200 @ 1,200 @ 1,200 @ 1,200 @ % 1,000 11 R
3,000 400 — 400 300 — — — 400 — 1,500
4 & ~ #1050 = 140= & x40 £ 1050 B n B+ B 22— 140C2= f& 7 % 525
98258 M2 60 M g M M g0 £ 60M 3 B o B B @A B0 E 218 300 13,090
() |2 =3 300 0 = 40 = = = 40 = LR 150
150 20 20 15 20 7 15
e 5 - B @ 1,600 @ 1,600 @ 1,400 (@ ¥ 1,600 ® 1,400 @ 1,400 ® 1,400 D 1,000 ® 1,200 @ 1,200 @ 1,200 @ 1,200 12R
1,200 400 400 550 300 — — 300 400 — 500 600
5 & E_ 420 - om0 B0 m 105% #& A & 105 C2m 14002z f& 175 210
9826H f; 240 g0 8 g 110 LU S 60 A 80 MM & 100 120 9, 606
(R) |& 5 120 40 40 55 30 B = 30 40 = 50 60
60 20 20 28 15 15 20 25 30
R - B @z 1,000 1,800 @ 1,600 @ 1,400 @ 1,000 ® 1,600 ® 1,400 @ 1,400 G 1,400 @ % 1,600 @ 1,200 1R
O 5,000 ® 7 2,500 1,100 400 400 300 300 - - 40 400 400
6 A ~ 2R 1,750 T oL em® - 3 m 140 140 05— 105= # = & V] 140 C2 = 140
98278 50 s 1,00 TR 50758 220 # g0 80 604 60 M g M| A 80 4% 8 80 19, 380
(k) |& -0 500 =7 x 250 g 110 40 40 30 30 = = B 40 40
[ 250 5 % 1 55 20 20 15 15 T 20 20
A Funfi 2 25 [& 150 [ | 4% 5] 5 5] 30.0] # 1.5] Fq 15
HiE T 2 M 100 100 100 100 100 63 100]#5 200] 150
4 Al 13, 600 8,160 6, 636 5, 526 5, 696 11,730 22,610 14,960{ 88,918
HIE A 1,106 1,106
T 330 35 35 35 263 105 803
Hik T 2, 340 3,510 6, 600 6, 000 7, 360 12, 461 14, 000 8,010[ 60, 281




